
BOS SLIP-ON OVAL 2005-2006

Pos Qty Description Part No. Order number

1 1 Muffler aluminium 299292 0510565A - Alu

1 Muffler carbon 299293 0510565C - Carbon

1 Muffler stainless 299633 0510565S - Stainless

2 1 Adapter 298058

Weight

Mounting kit : 280117 Original: 6.2 kg

3 1 Mounting bracket 227040 Bos: 3.8 kg

4 2 Spring 405001

5 2 Bolt M6X16 408078 Noiselevel @ 5050 RPM

6 1 Stand stop 287078 Original: specified 89.0 dB(A)

7 1 Spring washer 408037 measured 89.0 dB(A)

8 1 Rubber 413001 Bos: Ec appr. 90.0 dB(A)

9 1 Nut M8 408008 open 92.0 dB(A)

10 1 Bolt M8X16 408054

11 1 Bolt M8X20 408102 Performance 

12 1 Bracket 227135 Bos: 77.0 Hp / 10694 rpm

13 1 Washer M8 408067 Stock: 74.7 Hp / 10251 rpm

Max Hp incr.:+ 3.7 Hp / 11580 rpm

Max Nm incr. :+ 1.8 Nm / 7164 rpm

Tips

For more sound it is possible

 to place a dB-maker in this

silencer.

More information like photos and

 a full color dyno graph can be  

 found on: www.bos-exhausts.com

SUZUKI GSF650 BANDIT

1

3

5

4

2

8

6

9
7

10

11

13

12

S02 


